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i.’ S - f - Upper Penn
f 7138 MD, 7137 TVD (-3726)
T | BHL: 2361 FSL & 707 FEL
3 Enroaches 381 ft on the Yates N/2 spacing unit.
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Packer @ 7829.18 Ig

Upper Penn perfs 7873 - 7882

ac/ 2000 gals, frac/ 414 bbls, 50,000# sand

0=t : Flowed 274 MCFD with Strawn, est 82 MCFD individually
y BHL: 2334-2332 FSL & 735 FEL

Enroaches 354-352 ft on the Yates N/2 spacing unit.
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Strawn (base Upper Penn)
8130 MD, 8116 TVD (-4705)
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a 3 2 BHL: 2260 FSL & 736 FEL
y - . Enroaches 280 ft on the Yates N/2 spacing unit.
= |
= z Strawn perfs 8172 - 8180
% A = ac/ 2000 gals, frac/ 434 bbls, 50,000# sand
o 2l  Last test individually was 192 MCFD
i X BHL: 2243-2240 FSL & 737-738 FEL
% Enroaches 263-260 ft on the Yates N/2 spacing unit.
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" i { Atoka ( base Strawn)
== 8783 MD, 8665 TVD (-5254)
: : = BHL: 1910 FSL & 761 FEL
il ] = % o Does not encroach.
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e EesfEsEss TD 9300 ft MD (9102 TVD)
: =" = = BHL 1633 FSL (1007 ft from hardline)
! b oEEe = & 755 FWL (755 ft from hardline)
- SE=E : Morfow unsuccessfully tested from 8855 - 8912
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